SLS DAV PUBLIC SCHOOL, MAUSAM VIHAR
Sample paper
Class - VI
Subject English

Time Allowed: 3 hours Maximum Marks - 80

GENERAL INSTRUCTIONS:

1. This paper consists of three sections: A, B and C.

Attempt all the questions.

All the questions must be correctly numbered as in the question paper and written in the
answer sheet provided to you.

Ensure that questions of each section are answered together.

Read each question carefully and follow the instructions.

Strictly adhere to the word limit given in the paper.

Do the paper neatly and in a presentable manner.
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SECTION — A (READING) (20 marks)

1.Read the following passage carefully and based on your understanding of passage answer the
questions that follow: (1x8=8)

TULSI-THE WONDERFUL PLANT

1 The Tulsi plant seen in most Hindu homes is known as the Holy or Sacred Basil (botanical name:
Ocimum sanctum). It is an aromatic herb. The leaves of this plant are used in worship and also have
medicinal and curative properties. There are at least 150 varieties of basil in the world.

2 In the olden days, temples served as rest-houses for travellers. The Tulsi plant was grown outside
the temples because of its unique property of curbing thirst. A couple of leaves under the tongue and
the weary traveller looking for water would feel less thirsty. The basil, a native of India, reached
Western Europe only in the 16th century. Now it is widely grown all over the world.

3 Every part of the Tulsi plant, from roots to leaves, possesses health-giving properties. Its use as a
medicine in different ailments has been known from ancient times in the Ayurvedic system. The
leaves of the basil yield an essential oil which contains eugenol, carvacrol, methyl eugenol and
caryophyllene. It has the property of destroying bacteria and insects. The juice of the leaves is used in
treatment of bronchitis and gastric disorders. The leaves act as a nerve tonic and sharpen the
memory. They promote the removal of catarrhal matter and phlegm from the bronchial tubes.
Chewing Tulsi leaves is said to cure headache. For severe migraine, inhale the essential oil of basil
dropped in boiling water, or drink basil tea.

4. It is widely believed that juice of Tulsi leaves, mixed with a little honey, taken daily is good for
health. If a couple of leaves have been added while boiling the water for tea, it has a distinct flavour
and taste and is also good for health. It is also soothing and relieves tension. Made with either fresh



or dried Tulsi leaves, basil tea brings about a mild perspiration and with the addition of a pinch of a
ground cloves and cinnamon, it reduces fever as well.

Q1. Which of the following is a characteristic feature of Tulsi (Holy Basil)?

A) Its ability to cure migraines instantly

B) Its role in reducing fever when added to tea with cloves and cinnamon
C) Its origin in Western Europe during the 16th century

D) Its use only in religious ceremonies

Q2.Why was Tulsi traditionally grown outside temples in ancient times?

A) To add fragrance to temple surroundings

B) To serve as a natural remedy for tired travelers
C) To keep away insects and bacteria

D) To use in religious rituals

Q3.Which components are found in the essential oil of Tulsi leaves?

A) Eugenol, carvacrol, methyl eugenol, and caryophyllene
B) Lavender, peppermint, lemon, and rosemary

C) Vanilla, cinnamon, ginger, and turmeric

D) Sandalwood, myrrh, frankincense, and patchouli

Q4.What is a common medicinal use of Tulsi leaves according to Ayurvedic tradition?

A) Treatment of skin diseases
B) Treatment of malaria

C) Treatment of diabetes

D) Treatment of bronchitis

Q5.Which practice is believed to relieve headaches according to the information about Tulsi?

A) Chewing Tulsi leaves

B) Drinking Tulsi tea with honey

C) Inhaling Tulsi essential oil

D) Applying Tulsi paste on the forehead

Q6 State True OR False:
For migraine the essential oil of basil dropped in cold water is inhaled or basil tea is drunk.

Q7. The leaves of this plant have - and properties.

Q8. Find a word in paragraph which means “sweat”(Para 4)



2. Read the passage carefully and answer the following questions: (12x1=12)
1 Necessity is indeed the mother of invention. When areas in and around Leh began to experience
water shortages, life didn"t grind to a halt. Why? Because Chewang Norphel, a retired civil engineer in
the Jammu and Kashmir government came up with the idea of artificialglaciers.

2 Ladakh, a cold desert at an altitude of 3,000-3,500 meters above sea level, has a low
averageannual rainfall rate of 50mm. Glaciers have always been the only source of water.
Agriculture is completely dependent on glacier melt unlike the rest of river/monsoon-fed India. But
over the years with the increasing effects of climate change, rainfall and snowfall patterns have
been changing, resulting in severe shortage and drought situations. Given the severe winter
conditions, the window for farming is usually limited to one harvest season.

3. It is located between the natural glacier above and the village below. The one closer to the village
and lowest in altitude melts first, providing water during April/May, the crucial sowing season.
Further layers of ice above melt with increasing temperature thus ensuring continuous supply to
the fields. Thus, farmers have been able to manage two crops instead of one. It costs about
Rs.1,50,000 and above to create one.

4. Fondly called the ,glacier man®, Mr. Norphel has designed over 15 artificial glaciers in andaround
Leh since 1987. In recognition of his pioneering effort, he was conferred the Padma Shri by
President Pranab Mukherjee, in 2015.

5. There are a few basic steps followed in creating the artificial glacier. River or stream water at
higher altitudes is diverted to a shaded area of the hill, facing north, where the winter sun is
blocked by a ridge or a mountain range. At the start of winter/November, the diverted water is
made to flow onto the sloping hill face through distribution channels. Stone embankments are
built at regular intervals which impede the flow of water, making shallow pools and freeze, forming
a cascade of ice along the slope. Ice formation continues for 3-4 months resulting in a large
accumulation of ice which is referred to as an “artificial glacier”.

Month April May June July August Septemb
/Year er

2010 3410 16518 22889 22415 5575 3041
2011 3001 26310 33908 46843 37756 20833

Choose the correct answer from the options given below

1.Pick the option that correctly states for how many months does the ice formation continue in Leh?

a) 2 months. b) 3-4 months.
b) 5 months. d) All around the year



2. Select the option that is true for the two statements given below.

(1) Mr. Norphel designed 15 artificial glaciers in Leh.
(2) Farmers have been able to manage two crops instead of one.

a) (2) is not the result of (1)
b) (1) is the reason for (2)
c) (2) is independent of (1)
d) (1) contradicts (2)

3.  What can we say about the landform of Ladakh?

a) Itis a hot desert with golden dunes.

b) It is a desert with cactus and hot winds all around.

c) Itis a mixed landscape that is sometimes hot and sometimes cold.
d) It is a cold desert with little rainfall.

4. Pick the correct sequence for the creation of an artificial glacier:

1. Ice formation continues for 3-4 months resulting in a large accumulation of ice which is
referred to as an “artificial glacier”.

2. At the start of winter/November, the diverted water is made to flow onto the sloping hillface
through distribution channels.

3. River or stream water at higher altitude is diverted to a shaded area of the hill, facing north,
where the winter sun is blocked by a ridge or a mountain range.

4. Stone embankments are built at regular intervals which impede the flow of water, making
shallow pools and freeze, forming a cascade of ice along the slope.

a) 1,2,34. b) 2,1,3,4. C)3,24,1. d) 4,3,2,1.

5. The tabular graph given depicts that maximum tourists visited Leh in -
a) August 2010 b) August 2011 c) July 2010 d) July 2011
6. The word ,embankments" in the passage DOES NOT mean the same as:

a) Lowland b)mound c) ridge d) bank

7. The number of visitors to Leh in July 2011 was - than those who visited in July 2010.
8. Write an adjective that appropriately describes Chewang Norphel.



9. Pick the facts that are NOT TRUE about Chewang Norphel.

a) He was a retired civil engineer in the Jammu and Kashmir government.
b) He designed 15 glaciers in Jammu and Kashmir.
c) He is also known as ,Glacier Man*.
d) He was conferred with the ,Padamshri* Award.
10.What is the tone of the writer in the given
passage?
11.The word ,impede" in para 5 means-—-

12. Which of the following is the picture of glacier.

SECTION -B (WRITING AND GRAMMAR) (30
marks)

3. You are Vidhi/Vivek, the secretary of the Science club of your school. Draft a
notice for your school notice board inviting projects from the classes VI to VIl for
the Science exhibition which is to be held in your school. Please give all the
necessary details.

(4)



OR

Complete the following dialogues
Shikha : Hello Rupashi. | plan to spend my vacation learning (a)-----—----------—--

What are your plans?

Rupashi. : (b)
Shikha : That's great. | wish to take a course
in computers. Rupashi
()7
Shikha : That would be nice. It would be fun
going together.
Rupashi : Should | get a form for you?
Shikha : (d)

4. Imagine you are the class teacher of Class VIII. You have observed that one of
your students remains isolated and sad in class. After talking to her, you have found
that she is constantly being compared with her sibling by her parents. Write a letter
to her parents informing about her behaviour in class and suggesting them to
interact with her to understand her state mind so as to boost up her confidence and
make her a feel-happy girl. Refer to the Unit -Changing Times' of ‘My English
Reader’ along with your own ideas for the same. (Word Limit : 100—120 words)
(8marks)

You felt immensely inspired after reading about social workers like Mahatma
Hansraj and Dr. Parmeshwar Rao. Write a speech to be delivered in your school
assembly with the message that the qualities like love, peace, sense of compassion,
courtesy, forgiveness etc. are needed for the survival of the society. Refer to the unit
'‘Compassionate Souls’ along with your own ideas for the same. (Word Limit :
100-120 words)

5. The following passage has not been edited. There is one error in each of the
lines. Write the incorrect word and correction in your answer sheets as given below
against the correct blank number. Remember to underline the word that you have

supplied.

(4)
Chocolate can make peoples happy. (example) peoples - people
Chocolate are also considered very () J—— ceeeeneeens
good for health. One bar off chocolate (o) IS
have more protein than one banana. (o) IR
You might had heard people saying (d) e

that chocolates spoil the teeth.



6. Look at the words and phrases below. Rearrange them to form meaningful
sentences.

(4)

a) backbone of / is the / institution / educational / every / library.

b) books / on/ there are / different / plenty of / subjects.

c) plays / inimprovising / the librarian / an important part / reading habit.

d) the proper /to maintain / library / functioning of / contribute / student can
also.

7. Read the following conversation and report it by completing the paragraph: (1x4)

Shivam : What are you doing here?

Rohit : | have just come back from my holiday in Kashmir.

Shivam : Did you enjoy it?

Rohit : | love Kashmir and the people of Kashmir were so friendly.
Shivam (a) . Rohit (b)

Shivam enquired (c) enjoyed it. Rohit told him (c)

Q8 Choose the correct word from the options given below to complete the
following passage.(1x3=3)

Pollution (a) (become/became/has become) a very serious problem in our
country. All our important cities are found to be the most polluted. Smaller
industrial towns (b)_(be/are/is) also polluted. Two major areas of pollution are air
and water. Air pollution means that there is no pure air to breathe in and
this results in a lot of health problems. The body (c)

(doesn"t/don“t/didn"t) get its required supply of oxygen.

Q9 Do as directed:

(1x3=3)
a. Hisgrandfather cross this river when he was young.(Fill
in a suitable Modal)
b. The committee submitted its report. Fill the verb

according to the subject)
c. My God those are some wonderfully great decorations.(Put exclamation)

SECTION -C (LITERATURE) (30 Marks)

Q10 Read the following extract and answer the questions that follow.

(1x4)

And that growing old should be



gone about gracefully- She'd laugh
and say, ‘Well, I'll grow old
disgracefully. | can do it better.’ And
we had to agree;

For in all the garden there

wasn't a tree She hadn't

been up, at one time or

another.

a) What did the family suggest to Granny?
b) What could the grandmother do better and how?
c) What had “we" to agree to?
d) Write one pair of rhyming words.
OR

Your caring hands, tenderly removing the
pain Your love, your care, your faith gave
me strength To face the world without
fear and with His strength, We will meet
again on the great Judgment Day, My
Mother!

(a)Name the poem and the poet of the
above extract.
1

(b)What removed the child"s pain?

—_ 3 /|

(c) Name the figure of speech given in the second line.
(d) “We will meet again on the great Judgment Day” reveals 1

Q11Attempt ANY ONE extract out of the two given below:

(1x4=4)

‘Why don’t you follow my example and eat just one thing?

a) ldentify the speaker of this sentence.

b) Does the speaker really practice what he / she advises?
c) In the opinion of the speaker what would be the advantage if the listener followed

his / her example?
d) In reality who eats just one thing and why?

OR

1
1

—So that | may be completely dead at the other end? Have you any idea what it

means to be jolted in a jutka?

(a) Name the lesson from which the above lines have been taken.
(b) Who is the speaker of the above line? Whom is he talking to?
(c) What will make the speaker completely dead at the other end?



(d) Find the word which means ‘jerked'.

12. Attempt ANY SIX short answer type questions out of the seven given below:
(30-40 words).
(2x6=12)
a) Why did the King find the hermit’s answers to be more satisfying than those
of the scholars?
b) Why did the wounded man confess his guilt knowing fully well that it could
cost him his life?
c) The lady called the narrator —'a humorist’ after having luncheon at the
Foyot's. Who
do you think actually contributes to the humour in the story? How?
d) What undaunted demand did Granny make one day? Why was it fulfilled?
e) The author thought he had been avenged. How? (The Luncheon)
f) How does the poet describe his mother in the poem ‘My Mother'?
g) State the reason why Swami couldn®t deliver the letter to the headmaster?

13. 'We should not tell lies as one lie leads to another and might make us regret our
actions and feel guilty later.” Do you agree with this statement? Justify your answer by
giving Swami’s example from the lesson ‘Father’'s Help’. (Word limit: 70-80)

(4 Marks)

OR
‘Gave me strength’. What kind of strength is the poet talking about? How does the poet
get his strength? Is strength required to achieve success in life? Justify your answer by
giving examples from the poem ‘My Mother’.

14. Imagine that you are Swaminathan from the lesson ‘Father’s Help'. You feel guilty
about the lies you had told about Samuel sir to your father. You also feel bad for
disturbing Samuel sir in the class in order to justify the complaint letter your father
wrote against him. Write a diary entry describing your feelings of guilt and your
resolution not to tell lies again. (Word limit: 100-120)
(6 Marks)

OR
Imagine you are the narrator of the lesson ‘The Luncheon’. Write a letter to a friend of
yours describing how you have grown wiser after being fooled into hosting a luncheon
to the woman. (Word limit: 100-120)
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SAMPLE PAPER
TERM-I (2025-26)
CLASS-VIIl (MATHEMATICS)

Time: 3 hours M.M: 80

General instructions

1.
2.

This question paper contains 38 questions and 5 printed pages.
This Question paper contains - five sections A, B, C, D and E.
Each section is compulsory. However, there are internal choices
in some questions.

. Section A has 18 MCQ’s and 02 Assertion-Reason based

questions of 1 mark each.

. Section B has 5 Very Short Answer (VSA)-type questions of 2

marks each.

. Section C has 6 Short Answer (SA)-type questions of 3 marks

each.

. Section D has 4 Long Answer (LA)-type questions of 5 marks

each.

. Section E has 3 source based/case based/passage

based/integrated units of assessment of 4 marks each with sub
parts.

8. 15 minutes time has been allotted to read this question paper.
S. Section A Marks
No. | (This section comprises multiple choice questions of 1 mark each)
1 The factors of x>+5x-6 are: (1)
(A)  (x+6) (x-1)
(B)  (x+6) (x+1)
(C) (x-6) (x-1)
(D)  (x-6) (x+1)
2 If the selling price of 5 apples is equal to the cost price of 4 apples, |(1)

then the gain or loss percentage is:
(A) 20% gain




(B) 20% loss
(C) 25% loss
(D) 25%gain

If the total surface area of a cube is 96 cm?, then lateral surface
area is:

(A) 64 cm?

(B) 48 cm?

(C) 96 cm?

(D) 128 cm?

(1)

The coordinates of a point on y-axis at a distance of 3 units from
the origin are:

(A) (0,3)

(B) (3,0)

(C) (33)

(D) (0,0)

(1)

If “c” is inversely proportional to “d” and c=24 when d=%. The value

of d when c=% is:

(A) 54
(B) 52
(C) 56
(D) 58

(1)

The number of non perfect square numbers between (213)? and
(214)% is:

(A) 428

(B) 426

(C) 424

(D) 427

(1)

The value of (x + y)?- (X - y)?is:

(A)  4xy
(B) O

(1)




(C) 2xy
(D) x*-y?

If PM L x-axis, where P is a point whose coordinates are (3,4), then
coordinates of point M are:

(A) (0,3)

(B) (0.4)

(C) (3,0)

(D) (4,0)

(1)

A cloth is marked for 22590, but sold for 2331, then the
discount percent is:

(A) 10

(B) 20

(C) 30

(D) 40

(1)

10

If volume of a cuboid = 216 cm?® and height = 6 cm, and breadth = 3
cm, then its length is:

(A) 12cm

(B) 18 cm

(C) 6cm

(D) 9cm

(1)

11

The distance between the points A(0,4) and B(0,7) is:
(A) O units
(B) 11 units
(C) 3 units
(D) Can’t be determined

(1)

12

Coordinates of two points P and Q are (2,3) and (4,5) respectively,
then the value of (abscissa of P - Ordinate of Q) is:

(A) -2

(B) 2

(C) 3

(D) -3

(1)




13

If /[x — 12 =9, then the value of ‘X’ is:
(A) 15
(B) 717
(C) 741
(D) 9

(1)

14

The smallest number by which 240 should be multiplied so that the
product is a perfect square is:

(A) 5

B) 3

(C) 10

(D) 15

(1)

15

\3/209 + f/ﬁequals:
(A) 6
(B) 7
(C) 8
(D) 9

(1)

16

Value of ‘m’ that makes p // q is:

/ g
~ 3m+2 p
88°

g\

W/

A
L

(A) 11
(B) 20
(C) 30
(D) 10

(1)

17

If the total surface area of a cylinder is 616 cm? and radius is 7 cm,
its height is:
(A) 5cm

(1)




(B) 9cm
(C) 6cm
(D) 7cm
18 243 . . (1)
The value of N is:
81
(A) 255
(B) /5
(C) =
81
(D) N

In the given questions 19 and 20, Assertion(A), and the corresponding
reason(R) supporting in a given condition are given.Study both the
statements and state which of the following is correct.

(A) both A and R are true and R is the correct explanation of A.

(B) both A and R are true, but R is not the correct explanation of A.

(C) Alistrue, but R is false.

(D) As false, but R is true.

19 | ASSERTION (A) - Simple interest earned on %1000 for 2 years at (1)
3% p.a. is *60 implies interest earned at 2000 for 2 years at the
same rate is ¥120.

REASON (R) - When x and y varies inversely x X y = constant.

20 | ASSERTION (A) - Anil sold jeans for 1200. Its marked price is (1)
%1500, so the discount is %300.
REASON (R) : Loss= Cost Price - Selling Price

Section B
(This section comprises a very short answer type (VSA) of 2 marks each.)

21 Two cubes have edges in the ratio of 2:3. Find the ratio of their (2)
volumes and surface areas.




22

If v/— 343 + x =+/0.008 , then find the value of “X”.

OR
Solve: /729 ++/0.064 — +/0.125

(2)

23

Evaluate: (97)? using suitable algebraic identity.
OR
Evaluate: (12.4 x 11.6) using suitable algebraic identity.

(2)

24

Find the smallest number that must be added to 1985 to make it a
perfect square.

(2)

25

Observe the image given below and answer the following question:

Miku! Canyoutellif a
motor bik('e travels 240 Chikua!I think the
km on 30 litres of pef:rol, smotaibikewould
then how far would it el K9

travel on 9 litres of litres of petrol.

petrol?

Do you agree with Miku ? Justify your answer.

(2)

Section C

(This section comprises short answer type (SA) of 3 marks each.)

26

Factorize: (4a? - 12ab + 9b?) - 16¢?
OR

Find the product using suitable identity (m+5)(m-5)(m?+25)

3)

27

Find the smallest number by which 2250 must be multiplied so that

(3)




the product is a perfect cube.Also find the cube root of the new
number formed.

28

A seller listed a product online for ¥1200. He gave a discount of
15% and still earned a 20% profit. Find the cost price of the
product.

(3)

29

A farmer has a square field with an area of 2025 square meters. If he
wants to build a fence around the field, how much fencing material
will he need?

3)

30

Plot the points A(2,2), B(5,2) and C(3,5) on the graph paper.
Connect each pair so as to get a closed figure. Find the area of the
figure so formed.

OR
On the cartesian plane draw a rectangle ABCD, whose two vertices
are A(2,1) and C(6,6). Hence write the coordinates of B and D.

3)

31

Donut street and brownie street are parallel.Latte street intersects
them ,as shown below:

Kotte Aot

S Dok Abuek

Z‘\‘j\smw

IfmiL1=(5x+32)° and m4L2 = (2x+57)°, find the value of m£.1.

3)

Section D
(This section comprises a long answer type (LA) of 5 marks each.)

32

The volume of a metallic pipe is 748 cubic cm. Its length is 14cm

5




and its external radius is 9cm.

(A) Find the total cost of painting the outer curved surface area of
pipe if the cost of painting 1 sq. cm is Z35.
(B) Find the thickness of the pipe.

OR

Ravi has a cylindrical water tank on his terrace whose radius of the
base is 1.4 m and height is 2 m whereas Anita has a cuboidal water
tank on her terrace whose dimensions are 3.4mx1.6mx2.5m.

(A) Find the volume of the water tank installed on Ravi’s terrace.
(B) What quantity of water can Anita’s tank hold?

(C) If water costs 25 per 100 liters, what will be the cost Ravi
needs to pay for filling the tank fully?

33 A 250 m long Indian train Vande Bharat is moving at a constant (5)
speed of 144 km/hr. How much time will it take to cross a bridge
150 m long?
After a few hours it crosses a tunnel with the same speed in 50
seconds. Find the length of the tunnel.
34 The area of a square is given as (5)
(121p° + 164" — 88pq) sq. units.
Express it as the square of a binomial and hence find the side of
the square.Also find the value of the area of the square for p=1 and
q=2.
OR
If (a + —) = 17/4, find the value of (a - ).
35 |In the given figure,AB // CD and XY is a transversal. LBPQ =110°, |(5)

PR and QR are the bisector of ZAPQ and L CQP respectively.Find
the value of X’




Section E

(This section comprises 3 case study questions of 4 marks each.)

36

As part of the Green India initiative, your school decided to
organize a Plantation Drive to promote environmental awareness.
The school garden, which is in the shape of a pentagon, was
selected for this noble activity. To make the participation more
inclusive, the school head boy divided the garden into two distinct
parts:

1. A trapezium-shaped section for the senior wing students, and
2. A triangle-shaped section for the middle wing students.

This smart division not only allowed students from different wings to
participate but also helped in better planning of space for the trees.

The total area of the trapezium is given as 10,500 sq.m., and its
height is 100 m. The two parallel sides of the trapezium are such
that one is twice the other. The triangle (ADCE), where the middle
wing will plant saplings, has a height of 55 m from point D to the
base EC.

Additionally, it is planned to either fence the triangular garden
(DCE) or cover the entire garden with grass for beautification. The
sides ED and CD of the triangle are 90 m each.
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\
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Based on this situation, answer the following

(A) Find the length of both the parallel sides of the trapezium, given
that one side is twice the other.

(B) Find the area of the triangle DCE, given its height and base.

(C) If ED = CD = 90 m, find the cost of fencing the triangle-shaped
garden (DCE) at the rate of 25 per metre.

OR

Find the cost of covering the entire garden (trapezium + triangle)
with grass at the rate of *2 per sq.m.

(1)
(1)
(2)

(4)

37

Saumya runs a small gift shop. One day, she went to a wholesale
store to buy two designer storage boxes for resale. After some
gzg%aoining, the shopkeeper agreed to sell both boxes together for

Saumya brought the two boxes back to her shop and decided to
sell them to her customers. Since the two buyers were friends, she
wanted to be fair and set the same selling price for both boxes.

(4)




She sold the first box at a profit of 20%, and the second box at a
loss of 20%. Despite this, she kept the selling price of both boxes
the same to avoid any complaints or comparison.

Now, Saumya wonders whether she made a profit or a loss
overall—or if she just broke even.

Based on the above case, answer the following questions:

(A)  Find the selling price of each box.
(B) Find the cost price of the second box.
(C) Calculate the actual profit (in ) made on the first box.

OR

If Saumya had sold the first box at a 25% profit instead, what
would have been her profit on that box (in %)

38

Ram, a passionate Class 8 student who dreams of becoming a
civil engineer, visited Egypt during his summer vacation. He was
fascinated by the majestic pyramids of Giza, and was especially
curious about the mathematical precision and architectural
stability used in constructing such massive structures thousands
of years ago.

Motivated by this experience and inspired by the Sustainable
Development Goal 9 (Build resilient infrastructure, promote
inclusive and sustainable industrialization, and foster innovation),
Ram decided to recreate a pyramid model at home using square
blocks.

(4)




To construct this model:

He decided that the number of blocks in the bottom-most layer
(the base) would be equal to the sum of the first 8 consecutive
odd numbers.He created the base of the pyramid using the
number of blocks the same as the sum of the first eight
consecutive odd numbers. (moving from bottom to top, he
arranges the blocks using the pattern n?, (n-1),(n-2)2.....(n-7)?

Answer the following question (considering the base of the pyramid
as level1)

(A) Calculate the number of blocks used at the base of the
pyramid.
(B) Find the total number of blocks used in making the Pyramid.
(C) Find the number of blocks used at the 6th level from the
bottom of the pyramid.
OR
Find the sum of the number of blocks used at 2nd level and
7th level of the pyramid.
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General Instructions:

1.
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Question paper comprises six sections A,B,C,D, E and F. There are 37 questions in all.
Marks for each question are indicated against it. All questions are compulsory.

Write the same question number as given in the question paper while answering

a question in your answer book.

Question number 1 t020 very short answer questions of 1 mark each.

Question number 21 to 24 is of 2 marks each.

Question number 25 and 29 is of 3 marks each.

Question number 30 to 33 is of 5 marks each.

Question number 34 to 36 are Source based questions carrying 4 marks each.
Question number 37 (a) (Geography) and 37(b) (History) are map questions of 3 marks and 2
marks respectively. Both the maps should be attached inside the answer book.

SECTION A

SWER THE FOLLOWING QUESTIONS: -

1x20=20

1. Over utilization of resources results due to —

A) Their drastic depletion
B) Their gradual degradation
C) Overpopulation

D) Lack of their conservation

2 . Identify the characteristics that define * Biotic Resources’.

)} These are obtained from biosphere

i) They have the capacity to reproduce and regenerate
iii) Their quantities have been ascertained

iv) These do not get exhausted

Options-

A) (i) and (iv)

B) (i) and (iii)



C) (i) and (i)
D) (i) and (iii)

3. Jagan lives in a village in Uttarakhand . Which one of the following practices of soil conservation
should the people of his village follow-

A) Planting Shelter belts
B) Contour ploughing
C) Cultivation of fodder crops
D) Strip cropping
4. A region has rich Loamy soil and receives rainfall around 100cm. Which crop will be cultivated here.
A) Wheat and Jute
B) Wheat and Cotton
C) Riceand Tea
D) Rice and Cotton

5. Two statements are marked as Assertion (A) and Reason (R) have been given below . Choose the
correct answer from the options given below :

Assertion(A) —Most of the population of the world still depends on agriculture for its livelihood.
Reason (R) — Agriculture is the backbone of any country’s economic development.

Options-

(a) Both A and R are true and R is the correct explanation of A .

(b) Both A and R are true and R is not the correct explanation of A

(© Ais True but R is False

(d) A is False butR is True

6. Match the column-1 and Il and choose the correct option-

COLUMN I COLUMN 11
)] Anandmath
a) Mahatma Gandhi
i) Unhappy Indian
b) Bankim Chandra
iii) My Experiments with

Truth c) Lala Lajpat Rai




A) (a)-iii, (b)-i, (c)-ii
B) (a)-ii, (b)-iii, (C)-i
C) @)-ii, (b)i, (c)-iii
D) (a)-i, (b)-iii, (c)-ii

7. Choose the major events of 20" century from the events given in the box:

a) Postal services. b) Formation of Muslim League c) Introduction of Railways
d) Partition of Bengal. e) Jallianwala Bagh Massacre

A. (a) (c) and (d)
B. (b) (c) and (e)
C. (b) (d) and (e)
D. (c) (d) and (e)

8. Which of the following buildings from the modern period is situated in Delhi?
A. Victoria Terminus
B. Gateway of India
C. Gandhi Smriti
D. Victoria Memorial

9. Identify the person who is the founder of Marathi newspaper- ‘Kesari’.

—
il

A. Rabindranath Tagore
B. Lala Lajpat Rai
C. Bipin Chandra Pal
D. Bal Gangadhar Tilak
10. Arrange the following in chronological order.
(a) The soldiers in Meerut regiment revolted
(b) Mangal Pandey from Bengal regiment shot down his sergeant
(c) Lucknow was recaptured and Rani Laxmi Bai was killed
(d) British military freed Delhi, the epicentre of the revolt

Choose the correct option:

A. (b) (a) (d) ()
B. (b) (c) (a) (d)
C. (@) (b) (d) (c)



D. (a) (c) (d) (b)
11. The British policy to annex Indian kingdoms-
a) The Indian kings were compelled to accept British army within their territory
b) The Indian king had to station a British resident in his court
c) The Indian king could not recruit any other European.

Choose the correct option-

A. Doctrine of lapse

B. Act of 1856

C. Vernacular Press Act
D. Subsidiary Alliance

12. Identify the type of colonial agrarian policy with the help of clues:
e Introduced in Gangetic Valley, Central India and Punjab
e Villages were jointly responsible for paying land revenue
e Tax was not based on potential of soil but on total produce
Permanent Revenue System
Mahalwari System
Ryotwari System
. Zamindari System
13. Rajesh worked as a plantation worker in Kerala in the 19" century. He was forced to grow
as a commercial crop by Britishers to be sold in European market at higher prices.
Choose the crop grown by him-
A. Cotton
B. Opium
C. Pepper
D. Sugarcane

o ow>

14. Name the process by which the constitution of India can be changed overtime-
A. Impeachment
B. Amendment
C. Bill
D. Law
15. If India has a dispute with a neighbouring country and some other country tries to settle it by
intermediating but India strongly refuses. Which value given in the Indian Preamble has been reflected?
A. Democratic state
B. Republic state
C. Sovereign state
D. Socialist state

16. Consider the following provision under the Right to Freedom and find the INCORRECT one-
A. Protection against arbitrary arrest and detention
B. Right to Education
C. Equal opportunities in matter of public employment
D. Freedom of speech and expression



17. Directions:- In the following question, the Assertions (A) and Reason (R) have been put forward.
Read both statements carefully and choose the correct answer from the below: (Apply)
1

Assertion (A)- The money bills can only be introduced in Lok Sabha.

Reason (R)- If Rajya Sabha makes any recommendation regarding money bill, Lok Sabha may or

may not accept it.

Options:

(i) Both Assertion (A) and reason (R) are correct and (R) is the right explanation of the (A)

(if) Both Assertion (A) and reason (R) are correct and (R) is not the right explanation of the (A)

(iii) Only Assertion (A) is correct but Reason (R) is incorrect

(iv) Only Assertion (A) is incorrect but Reason (R) is correct.
18. Suresh lives in Himachal Pradesh and has completed 28 years of age. He wants to become a member
of Lok Sabha. Which qualification (s) is needed to fulfil this criterion

a) He should be a citizen of Himachal Pradesh

b) He must have Aadhar card

c) His name should be in Voter’s List

Choose the correct option:
A. Bothaandb
B. Bothbandc
C. Onlyb
D. Onlyc

19. A clothing brand named “Tribes of India” is an initiative taken by Govt.of India to promote local craft
of different regions. Which category of Directive principles of state Policy is being supported here?

A. Economic Principle

B. Social Principle

C. Gandhian Principle

D. International peace and security

20. The Union Government sometimes intervenes in religious and social practices of particular religion
for the betterment of present society. Choose the example that supports this statement.

Sikhs are allowed to carry a kirpan and wear pagri

Sikhs are exempted of wearing helmet

Practice of untouchability is abolished

Government schools and colleges remain closed during religious festival

oOmp

SECTION B (2x4=8)

21. Write two points of difference between Intensive Subsistence Agriculture and Extensive Agriculture.
22. “The revolt of 1857 was the landmark in the history of India’s struggle for freedom.” Justify the
statement with any two reasons.

23. Give any two examples that prove the dynamic nature of our Indian Constitution.

24. Rahul is 15 yrs old and his sister Meeta is 10 yrs old. They want to go to school and study. But Rahul
is made to work in Match stick making factory to support his family financially. Meeta is working in a
glass-cutting factory to earn little money. Which Fundamental Rights are being violated in each of the
above-mentioned cases?



SECTION C (3x5=15)

25. Define Multipurpose River Valley projects. List any four purposes served by these projects. (1+2)

26. The changes made in the forest laws by the British made the tribal life very difficult. Justify the
statement by giving three examples.

27. State any three kinds of discriminations faced by Indian soldiers in British army.

28. Indian Secularism is related to the constitutional values of liberty, equality, justice and fraternity. In
the light of this statement explain the importance of Secularism for India by giving three points.

29. Explain any three powers and functions of Speaker of Lok Sabha.

SECTION D (4x5=20)

30. Propose five conscious efforts that we must make towards creating a sustainable community.
31. Examine how vegetation cover and topography affect the formation of soil.

or
Examine five environmental hazards caused by constructing large dams across rivers.

32. “Despite participation of various sections of the society, the first war of Independence was a failure.”
Analyse the statement.

or

“The rule of the East India Company ended with Queen Victoria’s proclamation of 1858.” List any five
changes that occurred in the administration of India after this historic event.

33. A constitution is a body of Fundamental rules according to which the government of a country
functions. Describe any five basic features of Indian Constitution.

SECTION F (3X4=12)
34. Source Based Question (1+1+2=4)

Read the source given below and answer the following questions based on it.

Agricultural development is possible in certain regions of the world. It is influenced by the
various physical and economic factors. Plains are more suitable for agriculture than the
highlands. Density of population is generally high in plains. This helps in providing cheap
labour and market for farm products. Moreover, it becomes easier to use modern equipment
on plain regions, whereas it is difficult to use machines on rugged topography. The river
basins and deltas are more suitable for agriculture than mountainous regions.

34.1 Mention two geographical factors that influence agriculture. 1



34.2. Ganga’s family rears sheep along with growing peaches. What is this type of practice called?
1

32.3. Write two arguments in favour of using biotechnology in agriculture. 2

35. Source Based Question (1+1+2=4)

Read the source given below and answer the following questions based on it.

Before the advent of East India Company, the rural life in India was simple and self
sufficient. The British brought many changes in the field of land revenue system,
agriculture, industry and administration to guard their interest. As the British empire
expanded, the amount of revenue also increased. So much so that land revenue became the
biggest source of income for the Company. At this stage, Land Revenue Settlements were
introduced with an aim to legitimise the practice of economic exploitation. Therefore, the
Zamindari System under the Permanent Settlement was introduced in Bengal.

35.1. Name the person who introduced Zamindari system in Bengal. (1)

35.2. State any one reason for which the life of peasants became miserable during Zamindari Bandobast.

(1)
35.3. Highlight any two main features of Zamindari System. 2

36. Read the source given below and answer the questions that follow-

Parliament makes laws on the subjects enlisted in the Union List, the Concurrent list
and the Residuary Subjects. Under special circumstances, it can also make laws on
the subjects given in the State List. The annual budget of the central govt is passed
by the parliament every year. The government cannot impose any tax or incur any
expenditure if the proposals are not approved by the parliament. Regarding
amendment of constitution, both the houses enjoy equal power. It can be introduced
in either house.

36.1. Name the highest law making body in India. (@8]

36.2. Which house of the parliament has more power regarding money bill and why? (1)

36.3. Explain the process of passing a bill in the parliament. (2
SECTION F (1X5=5)

37. A Two places A and B have been marked on the given outline map of the world. ldentify them and
write their correct names on the lines marked in the map. (1X3=3)
A. region of high rainfall



B. A major tea producing country in South America

On the same political outline map of the world, locate and label the following: (1X2=2)

C. Avrregion of low rainfall in Australia
37. B. On the outline political map of India locate and label the following places:
A. The state where Khasis belonged
B. The state where Khonds belonged
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General Instructions:

® This question paper comprises five sections A, B, C, D and E. There are 39 questions
inthe question paper.

® All questions are compulsory. However, an internal choice has been provided in
somequestions. A student is expected to attempt only one of these questions.

® Section A consists of question number 1 to 20. These questions are MCQ’s and
Assertion-Reason questions. They carry 1 mark each.

® Section B consists of question number 21 to 26. These are short answer questions
whichcarry two marks each.

® Section C consists of question number 27 to 33. These are short answer questions
whichcarry three marks each.

® Section D consists of question number 34 to 36. These are long answer questions
whichcarry five marks each.

® Section E consists of question number 37 to 39. These are case based questions
whichcarry four marks each.

Section-A

(Select and write the most appropriate option out of the four options given for each of the
questions 1-20)

1. Robert Hooke observed honey comb like compartments in thin slices of cork. What were those
compartments?

(a) Cells with cytoplasm
(b) Living cells
(c) Dead cells

(d) No cells
2. PPLO is also known as

(a) Pneumonia
(b) Mycoplasma
(c) Paramecium

(d) Euglena
3. Choose the correct statement(s):




() Ribosomes are located in the chromosomes and are involved in protein synthesis.
(II) Golgi bodies are involved in the processing and packaging of materials synthesised in the cell
(IIT) Chloroplast are located in the animal cell and are involved in energy synthesis.

(IV) Anything entering or exiting the cell must cross at least one layer of cell membrane.

(a) (1) and (1)
(b) (1) and (111)
() (1) and (IV)

(d) (I1) and (IV)
4. The micro-organism which can be crystallized is:

(a) Bacteria
(b) Virus
(c) Algae

(d) Protozoa

5.1t is said that, “The pressure on a surface becomes more, when the contact area for a given
applied force is less”. From the following, the example that illustrates the above statement is:

(a) Nature has provided elephants with broad feet
(b) We prefer to use sharp knife to cut vegetables
(c) Buses and trucks have four rear wheels

(d) High rise buildings have a wide base

6. The force of friction that comes into play, when one body rolls over the surface of another body is
known as:

(a) Sliding friction
(b) Static friction
(c) Rolling friction

(d) Fluid friction

7.0nce a body starts moving on the surface of a table, the friction which comes into play is:
(a) Sliding
(b) Limiting
(c) Static
(d) Rolling

8. Which of the following is a non-renewable source of energy?



(a) Hydel energy
(b) Wind energy
(c) Fossil fuel
(d) Solar energy
9. The petroleum product that is used for coating the underside of an electric pole is:
(a) Lubricating oil
(b) Fuel Oil
(c) Paraffin wax

(d) Asphalt
10. In the experiment to demonstrate that air exerts pressure, when ice cold water is poured over
a sealed tin can containing hot air, the can collapses. Pick the correct explanation for the

experiment.

(a) The air pressure inside the can is same as the outside pressure.

(b) The can collapse because the pressure inside the can falls below the pressure outside
the can.

(c) The can collapse because the pressure outside the can falls below the pressure inside
the can.

(d) Water vapour pushed the can inward.

11. Atajunkyard, workers need to separate iron pieces from a large heap of mixed metal scrap.
They use a crane with a special attachment to lift only their on items easily. Which type of
force is being used to separate the iron scrap
(a) Magnetic Force
(b) Electrostatic force
(c) Gravitational force
(d) Frictional force

12. Select the combination of conditions essential for the process of combustion from the
following:

(a) Oxygen, Water and Carbon dioxide
(b) Oxygen, Ignition temperature and Fuel
(c) Oxygen, Carbon dioxide and Fuel

(d) Water, Ignition temperature and Fuel



13. Shyam was cooking potato curry on a chulha. To his surprise he observed that the copper
vessel was getting blackened from outside. It may be due to:
(a) proper combustion of fuel.

(b) improper cooking of potato curry.

(c) improper combustion of the fuel.

(d) burning of copper vessel.

14. Which of the following is also known as Regenerated Fiber?

(a) Nylon
(b) Terylene
(c) Acrylic
(d) Rayon
15. During electrolysis of water, hydrogen gas is released at the:
(a) Negative electrode, anode
(b) Negative electrode, cathode
(c) Positive electrode, anode

(d) Positive electrode, cathode

16. Ravi’s mother made idli batter and kept it overnight. By the next morning the batter had
risen and was fluffy. Which organism is responsible for this process?
(a) Lactobacillus
(b) Chlorella
(c) Yeast
(d) Staphylococcus

Q. No. 17 to 20 are Assertion-Reason based questions.

These consists of two statements- Assertion(A) and Reason(R). Answer these questions
selecting the appropriate option given below:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true and R is not the correct explanation of A.

(c) Ais true but R is false.

(d) Ais false but R is true.
17. Assertion (A): We do not slip when we walk on wet floor.
Reason (R): The water forms thin layer between the feet and the floor and decreases the
friction.
18. Assertion: Antibiotics should be taken on the advice of doctors for prescribed time and

duration.

Reason: If taken when not required antibiotics may kill some of useful bacteria in the body.



19. Assertion- Adding salt to distilled water increases its conductivity.
Reason - Distilled water is a non-electrolyte.
20. Assertion: Water can be used to extinguish fire caused by electric short circuit.
Reason: Water is poor conductor of electricity.

SECTION -B
21. In some machines like hovercraft, it may not be advisable to use oil as a lubricant.
(a) Which lubricant is used in hovercrafts?

(b) Write two advantages of using it as a lubricant.
22. “The cell of plants has an additional outer covering.”
Write any two functions of this outer covering?
23. Suggest the methods of preservation for the following food items:
a. Carbonated beverages and food drinks
b. Meat and fish
c. Dry fruits

d. Jams and jellies

OR
Give reason for the following:

(i) Curd always sets faster in summer than in winter.
(ii) Yeast is added to the batter used to make ‘dosa’.

24. In an experiment 2.5 kg of a fuel was completely burnt. The heat produced was measured to
be 175000KJ. Calculate the calorific value of the fuel.

25. Two rods of the same weight and equal length have different thickness. They are held vertically

on the surface of sand as shown in figure. Which one of them will sink more? Why?
A B

-

Sand

26. Ram wants to deposit copper on an iron spoon. He took a solution in a beaker and set up a
simple circuit for electroplating.

(i) Which terminal of the battery should the spoon be connected to?
(ii) What materials should the other electrode be made of?
(iii)  Name the solution that needs to be used.

SECTION -C



27. Give reason:
a. Cell is the lowest level of organization in an organism.
b. Alboumen and yolk are present in Hen’s egg.

c. Damage to cell membrane likely to impact the functions of the cell.

28. Mohan observes that yield of wheat, growing in his field, has reduced in the current year. He
gets the soil tested and the report confirms the deficiency of one particular nutrient.
Accordingly, he is advised to grow peas after harvesting wheat.

(i) Name the nutrient found insufficient.

(ii) How do you think growing peas will help in replenishing the soil?

29. (a) Differentiate between lignite and bituminous.
(b) Write the name of different products of the destructive distillation of coal which are used in:
(i) In the extraction of metals
(ii) Manufacture of synthetic dyes

OR

“Biomass is considered as cleaner fuels.” Justify this statement by giving three reason.

30.

(a) Differentiate between contact and non-contact forces.

(b) An archer stretches her bow while taking aim at the target. She then releases the arrow,
which begins to move towards the target. Based on this information fill up the gaps in the
following statements using the following terms:
muscular, contact, non-contact, gravity, friction, shape, opposite, attraction
(a) To stretch the bow, the archer applies a force that causes a change in its
(b) The force applied by the archer to stretch the bow is an example of force.

(c) While the arrow moves towards its target, the forces acting on it is due to of
air which acts in a direction to the direction of motion.

31. Mohit takes a hollow cylindrical pipe of iron and winds a large number of turns of well

insulated copper wire on it. The two ends of wire are connected with bulb and a strong bar
magnet moves rapidly towards the center of pipe.

i) What does Mohit observe when he moves the magnet closer?
ii) What happens when the magnet is at rest?

iii) What happens when the magnet is taken away?



way — (I

)

32. Write two points of difference between strong electrolyte and week electrolyte. Give one
example in each case.
33. Compare Synthetic plastics with natural plastic on the basis of
i. Weight
ii. Biodegradability
iii. Tensile strength

SECTION-D
34. Draw the diagram of plant cell and label the following cell organelles in plant cell.
a. Plastids imparting green colour to plants.
b. Outer covering of plant cell.
c. Stores excess of water and waste products.
d. Site of protein synthesis in the cell.
OR

(a) Write the cell organelle present on the cell membrane of euglena and paramecium. Write
one similarity and one dissimilarity between them.

(b) Differentiate between plant cell and animal cell. (any 2 points)

35.
(a) Why are objects moving through fluids given special shapes?
(b) Give examples of any two objects whose designing is done to make them have these
special shapes.
(c) How does air resistance change when the surface area of the body falling in air increases?

OR

(i) Give Reason:-

(b) The handles of motor cycle are covered with a rubber sheet with spikes.
(c) Gymnasts apply a coarse substance to their hands.
(d)Kabaddi players rub their hands with dry soil.

(ii) Sneha has taken two sheets of handmade paper identical in size and shape. She
crumbled one sheet into a ball and the other sheet kept as it is. Now she dropped
both the sheets together from the same height and at the same time. Which one of
them falls with a greater speed? Justify your answer.



36. (i)

1. State three conditions necessary for sustaining combustion.
2. What would happen if:
i We keep a glass tube in the innermost zone of the flame?
ii. Un burnt carbon particles released in air?
OR
1. Incomplete combustion of fuels lead to harmful effects on the environment. Mention
any three harmful effects of burning fuels.
2. You are provided with three test tubes containing milk, petrol and water respectively.
Now bring a burning candle near these test tubes one by one. Which material will
catch fire instantly and why?

SECTION-E

(Q. No. 35 to 38 are Case- based / data base questions with five sub -parts each. You are expected to
answer any four sub parts in these questions.)

37. "Outbreak Alert: Understanding the Dangers of Food Poisoning"

In recent weeks, a surge in reported cases of food poisoning has raised concerns among
health officials and the public alike. The outbreak, traced back to a local community event, has
left dozens hospitalized and many more affected by severe gastrointestinal symptoms. As
investigations continue into the source of contamination, medical experts emphasize the
importance of awareness, prevention, and swift medical intervention in cases of suspected
foodborne illness.

1. List two common symptoms of food poisoning.
2. Mention two pathogens responsible for food poisoning.

3. Foods from puffed or enlarged cans, should not be consumed . Give reason.
4. Name two methods for preventing foodborne illnesses at home.

5.1t isimportant to thoroughly wash fruits and vegetables before consumption. Give
reason.

38. The world's energy needs are met through various sources, each offering its unique advantages
and challenges. Fossil fuels, primarily coal, oil, and natural gas, have been the dominant enengy
sources for many years. They are convenient to extract, transport, and store, making them
widely used in power generation and transportation. However, their burning releases
greenhouse gases, contributing to climate change and air pollution. Renewable energy sources,
on the other hand, offer cleaner alternatives. Biomass, derived from organic materials, is
another renewable source, used for heat and electricity production. As the world seeks
sustainable and environmentally friendly alternatives, the transition to renewable energy



39.

sources becomes crucial to meet the ever-growing energy demands while mitigating the

impact of climate change.

(i)

(if)
(iii)
(iv)
(V)

Define carbonization.

Biomass is a cleaner fuel. Give two reasons in support of the above statement.
Name two gases that make up water gas.

Name the petroleum product used for dry cleaning of clothes.

How much carbon percentage present in Bitominous?

Synthetic polymers, by and large, have some common characteristics. These are resistant to
heat and chemicals like acids and alkalis. Their inertness makes them useful but has also
created numerous environmental problems. All these carry bags, or wrappers, ultimately find
their way to the garbage can. The disposal of all such plastic garbage is a major problem all
over the world. It is because plastic does not get decomposed by natural processes, such as
action of bacteria.

()

(ii)
(iii)
(iv)
(v)

Write one point of difference between biodegradable and non-biodegradable
substances.

Why Bakelite is used for making electric switches?

Why do clothes make of nylon last longer?

Name the fibre used for making surgical products.

Write one measure to control the damaged caused by plastic waste.
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